asym_sam?2

asym_sam4

asym_samb6

asym_sam3

diff_ bpm1X

30000

20000

10000

10000

20000

AT T T T N T T T T A T A
S0000 =100 -50 0 30 100

diff_bpmXum

di

20000

=
g

10000

10000

20000

=
IIIIIIIIIIIIIIIIIIIIIIIIIII

=100 -50 0 50 100
difi _bpm1Xum

10000 —
000 —
ﬂ_
5000
11}[]00_—. -
I N N T N N T N N T N T O Y
=100 -850 1] 50 100

diff_bpm1Xum

9-.

3000

2000

1000

=1000

=2000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

=3000 II|IIII|III|IIII|IIII|I

run7929 000 regression-asym Ssam

14(

120

100

800

100

a0c

900

a0c

0L

60(

300

200

100

160

14(

121

100

di

P
E

di

P
:

30000 [~ ] 35t 30000 - ™ rac 30000 |- u —agg 30000 [~ ] o
B —an( i i n i —{400
20000 |~ . 20000 |~ —12¢ 20000 |- 300 20000 |~
- - - - —ag(
i —25L i i —{ 5[ i
10000 [~ _ 10000 — - 10000 [— 10000 [ o
_ 200 i Z C
N N A0C N 200 N
o o o b
N 13 N 60 [ - 15( - 200
10000 10000 - 10000 |- 10000 15
- . 0 N 40 i s 100 A
i i [ i 100
20000 [~ - 0 20000 [~ - 20000 [~ - 50 20000 [~ g .
- u | J | - o u | J [ | -
-|IIII|IIII|IIII|IIII|IIII|IIII|I -IIII|IIII|IIII|IIII|IIII|II -IIII|IIII|IIII|IIII|IIII|IIII I|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|I
30000 =520 -10 0 10 20 30 o 30000, e 700 50 0 50 100 0 30000 57 20 10 0 10 20 3 U 30000 ~500 -180 -100 50 © 50 100 150 200 ©
diff_bpmdaYium difi_bpmdaX/um difi_bpmdaYium diff_bpm12X/um
| I | I B I | I
[ O O [ mn 1 [ O O i —a5c
20000 —[30c 20000 20000 [ —|30( 20000
. . . = . —anc
i —2R( i —80C : - —25( B —a5(
10000 - g 10000 - 10000 — g u 10000
I i . m [
n B —201 - - .: —{ 200 n
ol - = ol - ol
= 150 i | 150 [
- - - " - 200
10000 m 10000 wooo - m 10000
i, 100 l i 10€ . 15[
i .-. i [ .-. i 100
20000 - u 50 20000 20000 u 50 20000 —
i r [ R 1 - W | 50
i i i i m
_I|IIII|IIII|IIII|IIII|IIII|IIII|I {' _IIII|IIII|IIII|IIII|IIII|II _IIII|IIII|IIII|IIII|IIII|IIII D _IlllII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|I ﬂ
a0 -20 1D ) 10 20 an _150 -100 50 ) 50 100 _ap 20 10 ) 10 20 an _200 -150 -100 -50 O 50 100 150 200
diff_ bpmdaYium difi_bpmdaX/um difi_bpmdaY/um diff_bpm12X/um
1 —80c - N —45(
10000 10000 10000 | 400 o0 m
i —35( i —[80c [ . " —[40c
—a5(
- - - - m
| i N —{ 700 B = —{asr
5000 5000 5000 |- —apr 5000
i i —{60C i i ]
i —25( i - - 0
- - - —og( -
- - - - 2E(
ol ok ol ol
i _ | | 200
- - 300 - 1 - 0 150
~5000 ~5000 ~5000 ~5000 - n
- 100 - - -
i i 20( I 100 i 100
- 50 - - 50 - m
10000 10000 — M - 100 10000 |- - 10000 - | | 50
_||||||||||||||||||||||||||||||||| 0 _||||||||||||||||||||||||||| 0 _||||||||||||||||||||||||||||| o _||||||||||||||||||||||||||||||||||||||||||| 0
a0 -20 1D 0 10 o0 a0 150 -100 50 0 50 100 _ap 20 10 ) 10 20 a0 _200 -150 -100 -50 O 50 100 150 200
diff_ bpmdaYium difi_bpmdaX/um difi_bpmdaYium diff_bpm12X/um
diff_ diff_ diff_ hpméleY diff_
| — KL | — —{18L B — | I—
| N B —a5( u —45(
3000 ap00 — M 3000 - 000
N oo N —15¢ C N
- B i — 300 - —40t
2000 2000 —14c 2000 [~ 2000
- " B ¥ - B —35(
- = B 12 ¥ —|25t -
1000 [~ 1000 |~ 1000 [~ 1000 [~ —30C
- B 20 - 100 B -
ol ol ol . o
N N a0c i N
[ 150 [ [ [
[ m C - - - 200
1000 |- g 1000 | B0 ~1000 |- g 1000 |- 150
B 100 B i B
_ : 400 [ _ 100
~2000 - - ~2000 ~2000 - ~2000 -
i i 50 i i J - . 5
- [ 300 : - = : 50
[ _EIDDD ||II|IIII|IIII|IIII|IIII|IIII _mnnI|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|I ﬂ

L SaT468  vs diff b€

OLZ postpan.png

-200 <150 100 -50 O 50 100 150 200
diff_bpm12X/um



reg_asym_sam?2

reg_asym_sam4

reg_asym_samo6

reg_asym_samg§

run7929 000

- —{a0t - -
2000 2000 2000
C —a0t . .
1000 o 1000 1000
- = - "
o —60C of o
1000 | R 1000 | 1000 |
-2000 | ~2000 |- ~2000
B [ | i | N
-3000 " - 3000 m " 201 3000
- 200 . . 20(
i [ | [ [ | [
—4000 - 10 ~4000 - 106 ~ 4000 - 100
_EDDD:IIIlllllqllllllllllllllll D _E.DDD:|IIII|,III|IIII|IIII|IIII|IIII|I ﬂ EDDD:Illlllll.IIIIII|IIII|IIII|II ﬂ
- 100 50 ) 50 100 “30 =20 =10 ) 10 20 a0 S50 -100 -50 0 50 100
diff_bpmXum diff_bpmdaYium diff_bpmdeXium
[~ I [~ I _-I"'DE [~ _
- " - " - —{80c
3000 |- —anr 3000 3000 -
N N [ | —{ 600 B B o
2000 — —170C 2000 = 2000 — =
i N [
N —g0r B —500 B —|B0C
1000 = 1000 |- 1000 |-
" [ [ "
O or [ i
1000 :— =1000 :— =1000 :—
~2000 | ~2000 |- A" e ~2000 |
[ m _ m _ m
-3000 | | 3000 | | 100 -3000 | |
_mnnzllllllllﬁllllllllI|IIII|I D _WDD:|IIII|,III|IIII|IIII|IIII|IIII|I {' WDD:Illlllll.lllllI|IIII|IIII|II ﬂ
~100 50 ) 50 100 30 20 -10 ) 10 20 a0 S50 -100 50 ) 50 100
difi _bpm1Xum difi_bpmda¥ium difi _bpmdeXsum
d. difL d.
. — 140 - — e N
2000 |- 2000 — I 2000 |-
—12¢ - L : |
1000 | 1000 = —10¢ 1000 |
[ m — " m N —10C
ob 100 ob . ob
i [ —800 [
“1000 ~1000 ~1000
i [ [ | I [
i [ u u [
-2000 ~2000 |- ~2000
i u [ u [
C u N u 400 N
-3000 | ~3000 | -3000 |
~4000 [ 20( ~4000 = 201 -4000 [~ 20
- m - m n n
= N R R N o =00 S b b b b bl 0 U e N P R RN N 0
~100 _50 ) 50 100 30 -20 -10 ) 10 20 a0 150 -100 50 0 50 100
diff_bpm1Xum diff_bpmdaYium diff_bpmdeXium
| — B [ _
B0O0 - B00 _ &00 -
i - 700 - _
- | i - - 700
a00 - 400 - a00 -
I - I - — 600 I B —{BOC
200 - 200 200
] - ! - —{ 500 1 B —{500
I | B - m
or 0 m .| o
a00 | o000 oo0 |
=400 - ~ 400 [ | _ 400 [
B i [ | i
5 5 . 200 5 -
~600 | ~600 . ~600 .
- 100 Z 100 Z
~800 |- n ~800 [~ ~800 |~ n
_III|IIII|II I|IIII|IIII|I B III|IIII|I _III IIIIIIIIlIIIIl I|

=100 -50 o 100

regressmn'"mreg_saiiﬁ '

~vs diff ‘bpm-C

: —aoc
2000 - o
1000 —{g0
o —{ 200
1000 |
~2000 |
~3000 [~ | - 200
B [ |
-4000 | 100
: L | | l
11 11 11 11 11 11 11 11 1 1 11 1 1 11
-3000 45 -20 -10 0 10 20 an U
diff_bpmdeYium
diff
- — - —|7oc
3000
2000 |
1000 |
of
~1000 |
-2000 |-
[ L]
—aA00n :— | 100
- L | | |
| I | L1 11 L1 11 L1 11 | I | | I |
~4000,5 20 10 0 10 20 a O

diff_bpmday/um

diff_ _hpméleY

2000

"

—10C

1000

= 1000

= 2000
=3000
=4000 200

o000 = v b b b e b g

-30 20 10 0 10 20 a0
diff_bpmdaY/um

hpméleY

..-

o

9-.

600 — 0L

400

. 200

=200

~400

=600

-800 |

-30 -20) =10

“postpanm:png

2000
1000
- »
o
1000 |
~2000
~3000 |
- - 200
[ [ |
~4000 10
" m
—E'DDU I|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|I ﬂ
-200 -150 -100 -50 O 50 100 150 200
diff_bpm12X/um
d'
[ _— —lsor
3000 —
2000 [
1000 |-
:.
o
~1000 |
~2000 |-
N [
3000 — " 100
N [
_mnn I|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|I ﬂ
-200 -150 -100 -50 O 50 100 150 200
diff_bpm12X/um
difL
2000 |
- —12¢
1000 [
N —101
[ =
iy
: —Boc
~1000 [~
N BOC
~2000 |-
B |
C |
~3000 40(
~4000 |- 20
- N
000 T b b bl b b L b 0
~200 -150 -100 -50 O 50 100 150 200
diff_bpm12X/um
d'
B — — 800
EDD:-
- . —700
400 |-
UL n
. : _E'DE
Copop
1
[ m —{500
D_
: |
o000
_4p0 - O
B [ |
N - 20¢
600 I~ ]
: 100
-800 [ N
I|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|I ﬂ

-200 <150 100 -50 O 50 100 150 200
diff_bpm12X/um



asym_sam?2

asym_sam4

asym_samb6

asym_sam3

30000

20000

10000

10000

20000

20000

10000

10000

20000

diff_bpm1X

y y2/ndf 2472737
F p0  -2.261+6.558
. o 261+ 6.
i p1 ~240.1+0.3
i "mh
;‘ 3
:I | I 11 1 1 | I 1 1 1 | 1 11 1 | 1 11 1 |_| |
=100 =50 0 50 100
diff
C - | 2 /ndf  30.82/37
[ '*“*#ﬂ p0 -1.783 + 8.361
i ",
o E p1 —201.7 + 0.4
i 1‘1% ,
R H
B 4+i—+ -
- }
=1 1 1 I L1 1 1 | 1 1 1 1 | 11 1 1 | 11 1 1 | 11
=100 =50 0 50 100

diff_bpm1X

¥2 | ndf 27.27 | 37
-ri_‘-}
PO 0.2008 +4.4617 .
o1 84.08 + 0.20 d
D_
5000 |- f;‘*
: i
s
- b
10000 — -
NN NN NN N N
=100 =50 1] B0 100
diff_bpm1X
3000 - 2 { ndf 29.38 / 37
: 4--'-I-++ D
2000 [ e, p ~0.7616 + 0.5328
p1 -25.89 £ 0.02
1000 —
of
~1000 |
_2000 — H"m
i i
-||||||||||II|IIII|I||||||
100

run7929 000 regression asym sam

20000

15000

10000

5000

=5000

10000

15000

20000 —

°1

10000

8000

6000

4000

2000

=2000

=4000

6000

8000

_ - ¥2 | ndf 49.46 /39
3 | p0 -18.37 +32.13
_ br Jﬂhﬁ p1 -382.9 £ 5.2
3 + N '

- #

: T- _

:I | 1 1 11 | 1 111 I 1 111 | 1 111 | 1 111 | 1111 | 1 1

=30 =20 =10 i 10 20 a0

iff bpmdaY

- 2 f ndf 50.6 /39
i n0 _18.76 + 30.48
_ p1 —0.7711+ 4.9333
- }

- H , _

:_ y | F Ty H }

_I | L1 11 | L1 11 I L1 11 | L1111 | L1 11 | L1 11 | L1

=30 20 =10 (1] 10 20 an

diff_bpmdaY

diff_bpmdeX

.

di

bpmdeY

30000 |~ - %2 / ndf o8 66 / 38 - |+ E { ndf 37.82/38
- 10000 - |
= .|._++++ n : i _h -H'
[ -1.147 + 6.506 - 0 —1b.0 + 3.
20000 : . p 5000 |- | * H P 16.5 + 32.2
i B p -219.7 £ 0.3 F p1 ~439.9 + 6.1
10000 | or |
E 5000 - \’f
o : W*ww !
i 10000 | ﬂ
10000 |- -
B o 15000 | |
20000 [~ ‘+H++++ 20000 [
i H :
:|| 1 1 | 1 1 1 1 || 11 1 | 1 1 11 | 1 1 1 1 | |_| 1 EEDDD;l 1 1 ||| | ||| 1 1 ||| ||| 1 1 ||| 1 1 1 1
150 -100  -50 0 50 100 : 20 -0 0 10 20 a0

diff_bpmdeY

- 2 / ndf 30.4 /38 %2 f ndf 39.4 /38
20000 _+
- *, + 0 _
18000 ;_ ﬂ% po 0.517 + 8B.362 P 17.38 £ 30.56
10000 |- p1 -184.3+0.3 pl  0.6439 + 5.7629 !
- ol MW 4
o i NH '1]# ﬂ
-mnnf— el
- -5000
10000 : i
~ ﬂ*u B
u *h -
15000 - #{'} 10000
20000 Iy -
:IIII|IIII|IIII|IIII|IIII|III _IIII|IIII|IIII|IIII|IIII|IIII
~180 -100 50 0 50 100 T T T 0 10 20 30

diff_bpmdeX

diff_bpmdeY

¥ [ ndf 48.06 / 39 12/ ndf 32.5/38 ¥ [ ndf 35.94 / 38 }
p0 6.617 + 10.730 ||1 } p0  0.4524 + 4.4305 ﬁq”” p0 5.975 + 10.782 }
p1 185.7 + 1.7 A pi 76.95 = 0.18 d p 213.3+ 2.0
2000 [~ } : i ++4+W 1
B i i 1
u | 2000 —
o ﬂ- ; |
i I of-
~2000 — * i [
i +{_H+ =5000 — +++* = 3000 [
-mnn—-“}w i i ) * * f
- i 3 - —} Hh
L | - 1_]1 ~4000 [ _| ][h[]Jr
Bl 10000 |- - L
ol b b b b v v a Iy N N T T T T T O O B B S0 N e N T T N N O O B U O O A O A
=30 =20 =10 0 10 20 a0 =150 =100 =50 0 50 100 =30 =20 =10 0 10 20 a0
diff _ diff _bpmdeX diff _bpmdeY
2000 o — - i
- ¥Z [ ndf 21.07 /39 3000 = © 2/ ndf 29.43 /38 1000 [~ }-}H{ &/ ndf 40.81 /38
1500 | - »t -
: p0 _2.73+3.59 N p0  -0.566 + 0.502 soof - }-Wﬁ,m\ p0 2597 + 3.602
1000 - ey N
- Jq}| | p1 -31.95 £ 0.58 - = p1 -23.7 £ 0.0 o -36.35 £ 0.68
500~ ]L{{LI 1000 |-
JF { } - e ’?J‘HWM‘
¥ ; or :
~500 Py | : 1000 |-
n # ~1000 [~ N
~1000 [ Iﬁ dan - = S1s00 -
~1500 f— - ~2000 |- +‘+f+*++ , -2000 | -
—E{?DD: - —EEDU:"'l""l""|""|""|""

“vs diff

“bpin-fit

- post

10

pan.png

dlthmeZL

%2 / ndf 35.17 /35
p0  -47.03 + 25.86 ++#+;}* - -
p1 1041 +£0.7
—EI}DU;—
10000 e
15EIUU§— ﬁ{-rﬂ*
EGEIUUE— -
EEDUU;_.|....'|....|....|....|....|....|....|....|.
=200 =150 <100 <50 O 50 100 180 200

dlthmeZX_

%2/ ndf 31.73/35
p0 -31.02 £ 22.18 ﬂmﬁjr T
o i}
p1 89.86 + 0.61
of
-EDDDf—
- +H
10000 | +++r|#h
15nnnf— “
so000
:Ill||||||||||||II|IIII|IIIIIII|||||II|IIII|I
_200 150 -100 -50 © 50 100 150 200
diff
10000 [ - ¥2 / ndf 32.19/35
e p0 17.63 + 10.01
BOD0 |—
. Uﬂb p1 -35.46 + 0.27
4000 — + by
2000
of
~2000 |-
~4000 | ”1+q .
~6000 |- HL
T lvvirberre v v bernabvr v beran b aa
~200 150 -100 -50 © 50 100 150 200

dlthpmlzL

y2/ndf  33.36/35
p0 -5.361+ 2.827
++1j+‘r{| _
p1 10.89 + 0.08
of
—11}EIU_— Wl +
[ i
-E[?DD:— _{i
:IlllIIII-|IIII|IIII|IIII|IIII|IIII|IIII|IIII|I
~200 150 =100 50 O 50 100 150 200



=

diff bpmlX = diff _ bpmdaY dethmégL diff_bpmdeY diff_ bpm12X

¥/ nf 26.36 / 37 - 7=/ ndf 2716/ 39 ¥? / ndi 22.01/38 :_ =/ ndf 2762738 aﬂnf— ) %=/ ndf 46.19/ 35
- n 600 |-
pD ~1.685+ 1.757 1000 - p0  —0.4146 + 1.9649 p0 ~1.584 + 1.757 600 | p0 -0.4215 + 1.9700 . - pD —0.9987 + 1.9063
, - n 400F
. b 400 |- s
p1 0.04922 + 0.09618 i p1 ~0.2205 + 0.3306 p1 0.000343 + 0.087778 - - } p1 -0.2226 + 0.3862 200 - _ m p1  —0.02054 + 0.05724
F [ il o ' I i T i o[ T
- } [ i 1 o “ st #F*Hﬁ } or i ++|4J{F"“’1"””""“*""“"’"‘FH*“+ H J -200 }
reg_asym_sam?2 :_ . o et | | anf
I — —-S'DD i - : | J —E'DD __ . —4‘[:":' :_ T _E.DD :_
i _500 B [ 800 :_ ~ 800 - -
~1000 - 1 B - ~1000 F
: : ~1000 | _aon - :
- - - . ~1200
‘IIIIIIIIl||||||||||||II|II _1.DDD_I|IIII|IIIIIIIII|||||||||||||II|II _II||||||||||II|IIII|IIII|III _1.DDD_IIII|II||||||||||II|IIIIIIIII _-14|:|U:||||||||||||||||||||||||||||||||||II|_IIII|I
=100 =00 0 50 100 =30 =20 =10 0 10 20 30 =150 =100 o0 0 50 100 =30 =20 =10 0 10 20 30 =200 =150 =100 =50 O 50 100 150 200
diff bpmlX  diff _bpmdaY diff_bpmdeX diff _bpmdeY diff bpmli2X
2 | ndf 26.49 / 37 L - ¥2 [ ndf 23.88 /39 voo0 2 { ndf 23.27 /38 i 72 ndf 44.9 /38 %2/ ndf 35.02/ 35
= _ GO0
- 1500 — i B
p0 ~2.611+ 1.915 | . p0  —0.9227 +2.0927 [ p0 ~2537 £ 1.914 - p0 -1.011+2.099 p0 ~1.644 + 2.031
i i 400
500
p1 0.01862 + 0.10086 - p1 ~0.3163 = 0.3404 I p1  —0.01239 + 0.09179 i p1 ~0.2846 = 0.3987 p1 0.02309 + 0.06018
1000 |- - i i ,
L= | M T \ i —
SR : R il # ’Jﬂ : * { { | fH T -
reg_asym_sam4 | s i b s i | - I
— — - | - —E'DD | = _ B -
- - R - - 500
B u + + 1 u — 200 — } |
: °r m st |- . i I ]
~1000 = - [ - H Jr } om0 | - I -
- i - - 400 [ i
I ! J i - ~1000 |
:IIIIII||||||||||II|IIII|II _EDD |||||||||IIIIIII|||||||||||||II|II :II|||||||||||||||II|IIII|III -|||||IIII|IIII|II|||||||||||| ‘I‘Ill||||||||||||||||||||||||||||||||II|IIII|I
=100 -50 0 50 100 -30 -20 =10 0 10 20 a0 =150 =100 -50 0 50 100 -30 -20 =10 0 10 20 a0 ~200 <150 100 50 O 50 100 150 200
dlthmeX diff_bpmdaY diff_bpmdeX diff_bpmdeY diff bpml12X
i —_ - — 400 —
- 2/ ndi 19.6/ 37 o - 2 ndf 32.29/39 so0 - 2 | ndf 27.12 /738 ¥2 | ndf 40.25 /38 2 { ndf 37.27 1135
» _ DD __ B »
a0 [ { po —0.6312 £1.1188 - pD 0.2873 + 1.1973 400 - p0 —0.5679 + 1.1182 so0 L p0 0.1724 + 1.1987 p0 ~0.1459 + 1.1825 -
B E-'DD __ : _ -
A j HHJF pl  —0.008431+ 0.057901 - pl  —0.08892 + 0.20141 500 - pl  —0.02357 + 0.05272 S 1 ~0.03214 + 0.23504 p1 0.02707 + 0.03469 |
'I}_— |.t}il'#!"|"-r*|"‘ ey 400 = B | i = T \_‘
: : | ol w ol oF MW = ] WM" }
~300 B } 1 200 :— - | * - - H + t 1‘ : H } : _
i C } - _apn - - ~200
reg_asym_sam6 @ | b [ |H - | | a B
5 | = | e | | |
—E‘DD __ __IH}D -_ —E‘DD :_ —4‘[:'0 — -
s - Z - ~600 —
-800 ~BO0 1 ~800 B S -
[T 1 T T N T T T 0 A OO NN NN NN TN AN N IS AR AN BN AN A BN BN A AN A AN AN AN AN B B A tr v b v v bv v by v v v e b oo b b bvves b b v bev o bev s v aa
=100 -50 0 50 100 -30 -0 =10 0 10 20 30 =150 =100 -50 0 50 100 -30 =20 =10 0 10 20 30 -200 =150 100 -50 O 50 100 150 200
diff bpmlX  dif_bpmdaY diff bpmdeX  diff bpmdeY diff bpml2X
¥2 / ndf 30.48 /37 - 2 | ndf 58.58 / 39 ¥2 { ndi 35.44 /38 2 | ndf 47.77 138 32 { ndf 41.2/35
p0 ~0.5162 + 0.3899 von - pD —0.3663 + 0.3982 b0 ~0.4425 + 0.3895 pD ~0.4816 + 0.3995 p0 ~0.419 + 0.395
p1 0.005752 + 0.018435 I i p1  —0.03566 + 0.06436 p1 0.003012 + 0.016791 ' p1 0.00693 + 0.07527 pl  0.001341 + 0.010951
; ‘ } | ] 50| i | | } ) : F +
ofF - MM I E'D:_ H } 501~ } 5ol ] -
L t i = H B 1 | | _
- i ofF - HH}N[ i I 1 : I W
reg_asym_sams3 i A3 1[5 NT— S el e o | ety
_asym_ L — | | + 1 A | f
[ - * ~ ~ol I L } } | sob I
~100 __ : B : N -
- . =100 — - N 1
: }_ 'E’D_ } E { 30T } ook
150 I 150 | - - i
[ - 'I_Ill||||||||||||||||||||||||||||||||II|IIII|I

run7929 000 regsression reg sam2468 vs diff bpm-fif postpan.png = = Feeeeees



asym_sam?2

asym_sam4

asym_samb6

asym_sam3

run7929 000 reer

30000

20000

10000

10000

20000

AT T T T N T T T T A T A
S0000 =100 -50 0 30 100

diff_bpmXum

diff_bpm1X

20000 —

10000 —

10000 —

20000 —

=100 -50 0 50 100
difi _bpm1Xum

10000 —

5000

=5000 —

10000 —

=100 -50 0 50 100
diff_bpm1Xum

diff _

30000

20000

10000

10000

20000

v bvvrn bvvnrn v v b 1y
30000 -31} =20 =10 0 10 20 30

diff_bpmda¥ium

20000 —

10000 —

10000

20000 —

=30 =20 =10 1] 10 20 30
diff_bpmda/um

10000 —

5000

=5000

10000

30 -20 10 0 10 20 a0
diff_bpmda¥ium

R — B —
3000 |- 3000 |-
2000 — 2000 — -
1000 — 1000 —
1000 — 1000 —
-2000 — -2000 —
-3000 — ;

-50 b‘ 1] 100

ressiom-asym sam?2468-

di

30000

P
E

20000

IIIIIIIIII
~

10000

10000

20000

toa v v by v g Iy
SDDD-EH 20 =100 ~50 0 50 100

diff _bpmdeX/um

20000 —

10000 —

10000

20000 R

=150 =100 -50 0 50 100
diff_bpmdaX/um

diff_bpmdeX

10000 —

5000

=5000 —

10000

“180 -100 50 0 50 100
diff _bpmdeX/um

3000

2000

1000

=1000

= 2000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

vs diff ‘bpm=sca

30000

20000

10000

10000

20000

30000

20000 —

10000

10000

=30 =20

20000 —

10000

5000

=5000

10000

3000

2000

1000

= 1000

= 2000

- 31}0[]

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

=10

0 10 20 a0
diff_bomdeY/um

0 10 20 30
diff_bpmday/um

a0 =20

=10

0 10 20 a0
diff_bpmdaY/um

=20

- POS

tpan.pne

di

30000

P
:

20000

10000

10000

20000

I|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|I
30000 —50n —180 -100 50 © 50 100 150 200
diff_bpm12X/um

20000 —

10000 —

10000 —

20000

Dl b b e b beva b beva b
200 <150 <100 50 O 50 100 150 200
diff_bpm12Xium

10000 —

5000 —

=5000

10000 —

v e bvve b b v bevwn bvv e
200 <150 <100 <50 1] B0 100 160 200
difi_bom12X/um

3000

2000

1000

=1000

= 2000

_mnn_llllllllllllllll|IIII|IIII|IIII|IIII|IIII|I

-200 <150 100 -50 O 50 100 150 200
diff_bpm12X/um




reg_asym_sam?2

reg_asym_sam4

reg_asym_samo6

reg_asym_samg§

run7929 000

2000

1000

=1000

=2000

=3000

-4000

=5000

=100 =50 0 50 100
diff_bpmXum

diff_

3000

2000

1000

=1000

=2000

=3000

-4000

di

2000

1000

=1000

=2000

=3000

-4000

=5000

600
400

. 200

=200
~400
=600

-800

reg

=100 -50 0 50 100
difi _bpm1Xum

_hpmlL

=100 -50 0 50 100
diff_bpm1Xum

L
- 100 -5 1] 50 100

CSSI0IT 'TC

2000

1000

=1000

=2000

=3000

~4000

=5000

3000

2000

1000

=1000

=2000

=3000

-4000

2000

1000

=1000

=2000

=3000

-4000

=5000

G600

400

200

e

=200

~ 400

=600

- 800

=30 =20

10 0 10 20 a0
diff_bpmda¥ium

=30 =20

diff _

=10 1] 10 20 30
diff_bpmda/um

=30 =20

10 0 10 20 a0
diff_bpmda¥ium

-30 =20

g Ssal

2000

1000

=1000

=2000

=3000

~4000

=5000

=150

~100 50 0 50 100
diff _bpmdeX/um

diff_

3000

2000

1000

=1000

=2000

=3000

-4000

=150

2000

1000

=1000

=2000

-3000

=4000

=5000

=100 -50 0 50 100
diff_bpmdaX/um

=150

600
400

. 200

=200
-400
=600

-800

~vs diff bpm-

100 50 0 50 100
diff _bpmdeX/um

IIII_LIIIIIIII|IIII|IIII|II

50 100

2000

1000

= 1000

= 2000

=3000

=4000

=5000

=30

3000

2000

1000

= 1000

= 2000

=3000

=4000

=20 =10 0 10 20 30

diff_bomdeY/um

=30

2000

1000

= 1000

= 2000

=3000

=4000

=5000

diff_bpmdeY

=20 =10 0 10 20 30

diff_bpmday/um

-30

600
400

. 200

=200
~400
=600

-800

-30

sCal pPo

=20 =10 0 10 20 a0

diff_bpmdaY/um

=10 0

tpan.png’

2000

1000

=1000

=2000

=3000

-4000

=5000

_IlllII|IIII|IIII|IIII|IIiI|IIII|IIII|IIII|I
~200 -150 -100 -50 O 50 100 150 200
diff_bpm12X/um

diff_

3000

2000

1000

=1000

=2000

=3000

~4000

F Lo b b b b b b bere L
200 <150 <100 50 O 50 100 150 200
diff_bpm12Xium

diff _

2000

1000

=1000

=2000

=3000

~4000

=5000

600
400

. 200

-200
-400
- 600

~800

Tl bverr bvrre bvvvr oo v bevwn b e
200 <150 <100 <50 1] B0 100 160 200
difi_bom12X/um

L b b b b B B B v Iy
-200 150 -100 -50 O 50 100 150 200
diff_bpm12X/um




asym_sam1

asym_sam3

asym_samd

asym_sam’7/

diff_ bpm1X

2000

1500

1000

500

=500

=1000

=1500

2000 -

30c

200

100

-2500

=100 -50 1] 50 100

diff_bpmXum
diff

15000

10000

5000

=5000

10000

15000

—16(

—14(

—12C

—10C

800

600

400

200

=100 -50 0 50 100
difi _bpm1Xum

4000 —

2000

=2000 —

4000 —

—35(

—25(

100

=100 -50 0 50 100
diff_bpm1Xum

4000

2000 —

2000 —

4000 —

— 201

—{18(

—(16(

—{14(

—12(

100

run7929 000 regression-asym sam

diff_bpmdeX

diff_bpmdeY

diff_bpm12X

2000 - . 2000 |- 2000 |- 2000 - - —40t
u —150C u —150C N —{5n0 u
1500 F g 1500 1500 | 1500 g
1000 | 1000 1000 1000 |
- e - —[40c - —{40( - P
500 — 500 500 500 —
- - - - —25(
oF 30¢ oF 30( oF 200 of
500 500 500 -500 F
= = " - N
~1000 20 ~1000 & 201 ~1000 200 ~1000
- n - - - n
~1500 m -1500 -1500 ~1500 100
- " 10 - 10€ - 100 C =
=2000 — .. =2000 — u =2000 =2000 — I u 50
‘EEDD__lllllllllllllIII|IIII|IIII|IIII|I ﬂ ‘EEDD__IllllllllllllI|IIII|IIII|II ﬂ ‘EEDD__IllllllII|IIII|IIII|IIII|IIII D —EEUU:r|||||||||||||||||||||||||||||||||||||||||| ﬂ
-30  -20 10 0 10 20 a0 -180 100 50 0 50 100 -30 20 10 0 10 20 a0 -200 -150 -100 -50 O 50 100 150 200
diff_bpmdaYium difi_bpmdaX/um difi_bpmdaYium diff_bpm12X/um
! . ff l- l- l-
N — [ — B _ —35( B
B | | _ - R
- - 18¢ - - —a50
15000 [~ 30 15000 — 15000 —ap 15000 [~
" " —| 16t n " —40(
10000 — W _ 10000 ] 10000 - 10000 —
- & - 14 - —25¢ : —as(
5000 - B 5000 - —[1e 5000 - 5000
: 20( . i —20( .
- u - 10( - 0
ol o ol ol
N | 15( B B 15( N
~5000 |- " ~5000 | ~5000 |- ~5000 |-
- 100 - i 100 - 15t
10000 - 10000 | 10000 | 10000 10
[ 50 [ B 50 [
R R B L B 50
15000 [~ = n 15000 — 15000 n 15000 —  Hg
_|IIII|IIII|IIII|IIII|IIII|IIII|I {' _IIII|IIII|IIII|IIII|IIII|II _IIII|IIII|IIII|IIII|IIII|IIII D I|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|I ﬂ
30 -20 10 0 10 20 a0 ~180 -100 50 0 50 100 30 50 10 o 10 20 a0 -200 -150 -100 -50 O 50 100 150 200
diff_ bpmdaYium difi_bpmdaX/um difi_bpmdaY/um diff_bpm12X/um
- - —a5i - -
i I I - i
4000 ] 4000 4000 e 4000 —301
10€ n
N N a0 N N
- - - - —25¢
2000 —80¢ 2000 —1=25( 2000 —|B0C 2000
- - - - — 200
i i 200 i i
BOC
o o ol o™
I I 15¢ I I
B A0 = = 400 -
-2000 | -2000 100 ~2000 |- -2000 |
i 200 i i 200 i
i i - I i
~4000 |- ~4000 ~4000 |- ~4000 |-
_||||||||||||||||||||||||||||||||| 0 _||||||||||||||||||||||||||| 0 _||||||||||||||||||||||||||||| o _||||||||||||||||||||||||||||||||||||||||||| 0
30 -20 10 0 10 20 a0 ~180 -100 50 0 50 100 30 20 10 0 10 20 a0 ~200 -150 -100 -50 O 50 100 150 200
diff_ bpmdaYium difi_bpmdaX/um difi_bpmdaYium diff_bpm12X/um
diff_ bpm4aY = diff_ diff _bpmdeY diff_ bpmi12X
— — —18( — —a5( —
: : o : : : - o
B kN B —{16L B B
4000 4000 4000 30( 4000 40
- - —14( - -
- —25¢ - - - - a
i i I —35( i
2000 2000 — 1 2000 [~ 2000 api
i — 201 | 100 s 20( -
ol ol ol ol
- 15( - 80c - 15( - 20(
. . cot | .
2000 — 10 2000 |- 2000 [— 100 2000 — 15¢
- - 400 - - 100
[ 50 __ B 50 [
- 4000 - 4000 - 4000 - 4000
[ |
- 200 i = - i 50
I|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|I ﬂ

Sam1357: Vs diff bomC

OLZ ‘postpan.png

-200 <150 100 -50 O 50 100 150 200
diff_bpm12X/um



reg_asym_saml

reg_asym_samJ

reg_asym_samd

reg_asym_sam?/

run7929 000

=100

=200

-300

- 400

3000

2000

1000

=1000

=2000

=3000

-4000

=5000

-6000

800

600

200

=200

~400

- 600

-800

=100 =50 0 50 100
diff_bpmXum

=100 -50 0 50 100
difi _bpm1Xum

diff

1000

500

=500

=1000

=1500

=2000

-2500

resression-reg

=100 -50 0 50 100
diff_bpm1Xum

=100 -50 o 100

—{35(

—25(

—10C

200

—{35(

25(

200

150

100

—14(

—12(

— 100

400

200

300 —a5r
| 200 o
jeer —25(
o
- 20(
~100 |
- 150
_200
- 100
~300 [
[ 50
-4ﬂ05' n
‘Il L1 11 |II II| L 11 I|I L 11 |II II| 1 11 I|I ﬂ
30 -20 1D 0 10 20 30
diff_bpmdaYium
-
3000 —{80t
2000 ;— —=or
1000 |- ot
]
~1000 &
~2000
-3000
4000 200
~5000 ;— - 100
—ﬁﬂDU :Ill L1l |II II| L 11 I|I L1 1 |II II| L1111 |I ﬂ
a0 -20 1D ) 10 20 an
diff_ bpmdaYium
d '
800
B —{ 400
o0 -
| - —a5r
. 400
- —lanr
] N
200
- —25¢
ol
: [ |
o000
~400 |
_ﬁgnz- |
_ m
B0 s b b b b L 0
a0 -20 1D 0 10 o0 a0
diff_ bpmdaYium
d '
1000 —
: - —12¢
B H B
500 - m u
- mm —100
. m
o
=500 :— - -
- m
~1000 [~
N |
[ [ | [ |
1500 |-
~2000 |- 20
_agon L

I35 vs di

sam

300
n —asr
200
- —anc
;100
‘ - —(25(
o
~100
_200
-300
_4ﬂDE— n
il I | | 1 1 1 II L1 1 1 |I L 1 1 | 11 1 I| || ﬂ
150 =100 50 0 50 100
difi_bpmdaX/um
l-
E —10¢
3000
2000
1000
o
-1000 E
-2000
-3000
~4000 |- a0t
5000 ;— N
EDDD :I L1 1 |I L1 1 I | I | |I L1 1 | L1 1 I| L1 ﬂ
1500 -100 50 ) 50 100
difi_bpmdaX/um
difL
[ —anc
EDD:'
| N —ag(
- 400
| : —{30c
200
- —og(
ol
B 200
_op0
- 150
400
- 100
800
B 50
- [ |
- L N TN A NN 0
150 -100 50 0 50 100
difi_bpmdaX/um
d .
- —14c
1000 |-
- e
EDD:'
- —10c
ﬂ:‘ [ |
500
~1000 -
N |
[ [ |
1500
~2000 |

iff

=100

=200

-300

- 400

-30 20 10 0 10 20
diff_bomdeY/um

3000

2000

1000

= 1000

= 2000

=3000

=4000

= 5000

= 6000

30

=30 =20 =10 0 10 20
diff_bpmday/um

diff

800

G600

400

200

=200

~400

- 600

-800

30

hpmélcY

-30 20 10 0 10 20
diff_bpmdaY/um

diff

1000

500

=500

= 1000

=1500

= 2000

30

_hpméleY

—35(

—25(

200

150

100

—{ 700

200

100

1]

— 350

—25(

—{ 141

—12(

—{10(

400

“bpm-COLZ postpan:png

: L
300 —
N —{as(
200
| B — 30
£l : -
100
] - —{25(
N . u
o
_ m
~100 :— | .
~200
3_ E = |
-300 | .
[ 50
_4ﬂDE- n
ﬂlllII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|I ﬂ
~200 -150 -100 -50 O 50 100 150 200
diff_bpm12X/um
l-
= —
aooo —{a0t
2000 —{&or
1000 | —{70r
- o
o —500
-1000 50(
~2000 40(
-3000 ant
~4000 200
~5000 N 100
—EﬂDU ; |IIII|IIII|IIII |IIII|IIII|IIII |IIII|IIII|I ﬂ
~200 -150 -100 -50 O 50 100 150 200
diff_bpm12X/um
B‘DD | |
B [ |
C —{400
ﬁﬂD:‘
I - —{a5(
. 4&0:‘
] N —{30(
200 -
- m —{25(
b
R 200
~300
N 15(
~400
B 100
600 |-
- 50
- [ |
B0 T il b b b b b L L 0
~300 -150 -100 -50 O 50 100 150 200
diff_bpm12X/um
d '
N —
[ —14¢
1000 |
N —{12(
EQD:-
N —{ 101
D:‘l
500 - BOC
~1000 60(
N |
N N
~1500 [~ 400
_2p00 200
N ]
—EEHU I|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|I ﬂ

-200 <150 100 -50 O 50 100 150 200
diff_bpm12X/um



asym_sam1

asym_sam3

asym_samd

asym_sam’7/

_ 72 | ndf 29.67 / 37
1500 —
E '.er p0 -0.5878 £1.67M1
1000 |- #r*lhﬁ
: + pi 14 57 £ 0.07
500
o
500 |
E Pt
-1000 b
- *#]d‘r d
~1500 ”
: L1 1 I L1 1 1 | | I I | | | I I | | L1 1 1 |_I |
100 50 0 50 100

diff_bpm1X

- ¥2/ndf 31.11/37
15000 [ _
S PO  —2.51+2.29
10000 |- +L+‘
- p1 -143.3 + 0.1
5000 |-
of
-5000 |
10000 |- rﬁ"*#h
C et
15000:_||IIII||||||||||II|IIII+|_II
100 50 0 50 100
%2 / ndf EE 76/ 37
p0 0.9392 + 55011 |
p1 19.16 + 0.24 T’ﬂh |
T _— H} F |
oF
- '
-1000
: - w‘ﬁr
-2000 | ]d‘
:||_||||||||||||||||||||||||

=100 =50 1] B0 100

diff _"bpmlX

|- 22 { ndf 26.93 /37
4000 B Fy

I %, p0 ~0.4878 £ 0.6061

s+

- p1 _44.67 +0.03

2000 —
ﬂ -

2000 —
~4000 |- Tty

i | I 11 1 1 | | | | | 1 11 1 | 1 11 1 |-| |

run7929 000 regres

ression - ASYIIl saml

;_ - ¥2/ndf  48.07/39
1500 |
i ‘M’rjﬂ PO -1.205 + 1.669
w00 1 T
- D1 -53.67 +0.27
500
of
-s{mf—
- " t
1000 iﬂhl
n }
~1500 rh
_Eﬂnn-lllllllllllllllll|||||||||||||||||
=30 =20 =10 0 10 20 30
10000 %2/ ndf 50.5/39
p0 -11.94 + 20.42
=000 w p1 ~121.6 +3.3
t
: hi |

=5000

=
I I I I I 1 I I I I I I 1 1 I I 1 I I I
—_
+
—_—
1

10000 —

=30 =20 =10 0 10 20 30

diff_bpmday _

diff_bpmdeX

F %2 { ndf 29.91/38
1500 | *
E PO —0.6371+1.6725
1000 |- 1,
. e pi -13.35 £ 0.07
500
o
-500 |-
~1000 [ M}M
- +fH q»
~1500 | *H
:I 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 11 | 1 1 1 1 | I_I 1
150 -100  -50 0 50 100

diff_bpmdeX

- - ¥2 / ndf 30.43 /38
15000 [
S 00 —1.646 + 2.305
B +
10000 [ -
: p1 ~131.1 4 0.1
5000 |-
oF
-5000 |
10000 ;— __1*# ‘
B K
15000 _I 11 1| | 11 1 1 | 11 1 1 | 1L 1 1 1 | 11 1 1 |+_|_| l
180 -100 50 0 50 100

diff_bpmdeX

¥2 ! ndf 37.71/39 2/ ndf 30.24 / 38
-I-+
p0 1.071+ 1.493 A7 p0 1.505 + 5.490 |{
p1 151.1+£ 0.2 7 pl 17.62 £ 0.22 qfﬁ
1000 e ‘}
II];— .D:—
-1000 N
- [ 1
2000 P o N : H”jﬁ
=3000 ;_ qu{r ~2000 | Jh H
-4000 | __‘+" I
E v b b b bv v b Ly —EH}DD-""l""l""l""l""l"'
30  -20 -10 0 10 20 30 180 -100 50 0 50 100
dift diff _bpmdeX
a0 b - ¥e | ndf 50.04 /39 [ - %2 | ndf 25.84 /38
2000 - p0 -4.02 +6.27 0o q{”;* p0  -0.2121+ 0.5564
JW p1 4526 + 1.01 - pi —-40.87 £ 0.03
1000 - ]L 2000
X i } [
ol { - -
B 0=
- + ]L .
~1000 |- { { I
- | il ~2000
~2000 } - I ,
- I ,
. -4000 L
el | | | I

=30 -2{) =10

357 vs diff ‘bpm-fit

s

diff_bpmdeY

1500 |- HH* ¥2/ndf  36.27/38
1000 p0 -1.175 + 1.699
500 p1 -61.29 +0.32

-E.Emf—

E f++++-|- {
= 1000

- HHHH 1
~1500 [~
-Eﬂnnf— } +

:I 111 | 1 1 11 | 1 1 11 | 11 11 | 1 1 11 I 1 1 11

=30 =20 =1 L] 10 20 a0

E

2

{ ¥2 / ndf 38.95/ 38

M pO —-11.01£ 20.48
p1 -139.1+£ 3.9

2000

1
_',=l:

= 2000

Tl

|

=4000
= 6000

=B000

10000

12000
A T T T N B O B O
=30 =20 =10 0 10 20 30

diff_bpmdeY

%2 [ ndf 3149738

p0 0.8643 = 1.5773 o

pi 173.8 + 0.3

1000

1]

= 1000

= 2000

=3000

=4000

tr v v br v bvr o br v b
~30 20 =10 (1] 10 20 an

iff _bpmdeY

9-.

} %2/ ndf 40.12/ 38

Fﬁﬁ%\ p0  -3.647 +6.289
-52.22 +1.19

1000

K

= 2000

=3000

=4000 | ||||||||||||||||||||||||||||
=10

- postpan.png

diff_bpm12X

%2 / ndf 37.22 /35 A
p0 -3.996 + 2.322 thH# - -
p1 5.824 + 0.063 -

oF
500 ﬁ} iy
~1000 [ w
1500 -

|||||||-|||||||||||||||||||||||||||||||||||||
=200 <150 <100 -50 O 50 100 150 200

diff_bpm12X

H- T T 1

%2/ ndf 34.03 /35
p0 -25.56 + 14.98 *
p1 62.98 + 0.41
op
_5000 |-
A ]l "
- }
10000 — “
15nnn'_|-lllllll-|llllllIII|IIII|IIII|IIII|IIII|IIII|I

200 =150 <100 50 O 50 100 150 200

iff _bpml2X

"-"1

3000 — %2 / ndf 36.15/ 35

- ) 7.368 + 5.022
E‘I}UU_— -

l pl -6.817 £ 0.160
'H}EIU_—

i N +[H+

I H
-mnn:— er” -
—E[I'EIU_— l

b b bvvas b e berr b va v b

200 =150 <100 50 O 50 100 150 200

diff_bpm12X

x2 / ndf 34.07 / 35
p0 -8.315 £ 4.677 Jﬁ[

o1 19.49 + 0.13
of

-mnnf—

-znnnf— e
- ]l++r|

-3000 H

-mnnf— o
'_I'Ill||||-|||||||||||||||||||||||||||||||||||||

200 <150 <100 -50 O 50 100 150 200



reg_asym_saml

reg_asym_samJ

reg_asym_samd

reg_asym_sam?/

=

if_bpmlX

%

bpmdaY

diff_bpmdeX

- . - _— 150 —
I 32 | ndl 37.47 /37 B %2 I ndf 40.85 / 39 I ¥? / ndf 28.21 / 38
100 - 150 [ i
[ p0 ~0.5001 + 0.4009 A p0 ~0.4405 + 0.4048 voo L p0 ~0.4555 + 0.4008
spb pl —0.001701+ 0.018423 oo pl  —0.004194 + 0.065505 i pl  -0.007224 + 0.016765
I | * i 50 - f
- - 1 - 5&_ | »
- { - J C
oF W%ﬁw | . } m . =l hHﬁh
[ [ ol by ettt
- } ! or [ | " S Pl” I ' T |
o -s0f 1 - ol
100 F 100 ) 100 F
) -I||||||||||||||||||||||||| _|||||||IIIIIIIII|||||||||||||||||| ) _||||||||||||||||||||||||||||
=100 =50 o a0 100 =30 =20 =10 0 10 20 a0 =150 =100 =50 0 30 100
diff bpmlX  diff _bpmdaY dlthpH]élﬁL
%2/ ndf 26.34 | 37 2000 |- - *2 1 ndf 33.05/39 %2 I nd 32.25 /38
p0 ~2.813+ 2.034 1500 - p0  —0.6768 £2.2615 pO0 ~2.538 + 2.032
p1 0.05373 + 0.10988 o0 p1 -0.2243 £ 0.3713 p1 0.00687 + 0.10016 -
- 1! - i
T ’ 500 - ol H TAPRUR— _
500 ; { " W :
or or m Hﬁﬁ*‘“ﬂ' ity u } : _so0 -
i so0fF  * i |
~1000 = B ~1000 |-
I ~1000 [ I
_15DD_II|||||||||||||||||||||||| |||||||||||I|||||||||||||||||||||| _1EDD_IIII|||||||||||||||||||I||||
=100 =5 o 50 100 =30 =20 =10 0 10 20 30 =150 =100 =5 0 50 100
diff_bpmi1X diff_ bpmdaY = diff_bpmdeX
20~ . ¥ | ndf 26.69 / 37 %2 I ndi 26.65 / 39 200F " ¥ ndi 28.22 38
i pO 0.2523 + 0.7598 pO 0.3722 + 0.7627 150 & PO 0.2801+ 0.7590
100 — -
- 100
- pl  —0.01883 + 0.03429 pl  0.008752 + 0.123990 - pl  —0.01389 + 0.03112
i HJr ] S0 :
of - HMWW#{H‘H |‘ 100 [~ } ] : H* |
. } I f { oF - #‘H”ﬁ e ”””””HH|
-1oo of TM#W - ~50 | |
i [ - J *H “100 F
200 | ) - l s -
i -100 = -150
00 - 200 | i
i TN N T T T N T T N T N T N O A A B OO copp el b b b b L Ly SFINENINE AN I N AN A AN AN AN AN TN ANAN AN I B AN AN AN AN A AN
=100 =50 o 50 100 =30 =20 =10 0 10 20 a0 =150 =100 =50 0 50 100
diff bpmlX  diff_bpm4aY dlthpmégL
| — _IH}D - _
%2/ ndf 30.45 /37 - %2/ ndf 41.24 39 12 ¢ nal 30.81/38
pO ~0.2448 + 0.5097 ] 300 - PO ~0.1002 + 0.5414 o0 -0.2028 = 0.5081
p1 0.01132 + 0.02595 »oo - p1  —0.04776 + 0.08855 Pl 0.0003058 = 00236263 )
[ T HllM : - - | ”
= i + B
i | o |y
[ _ 100 — = }
100 |- L N N i }
. L - }} LTN 100 [
a0 | or * qu*r' W """"'""’""‘*"#Fdl+++ | E {
! - |t } { -200
: 100 - -
B i - -300
-_ L 1 I 1 1 1 1 | L 1 | 1 | 1 11 1 | L 1 1 1 | L 1 200 -_

ression reg samliI357 vs dif

run7929 000 reeres

-30

ff bpm-fit postp

diff_bpmdeY

¥2 / ndf 33.28 / 38
p0 ~0.503 + 0.406 | |
pl  0.01865 + 0.07656
o !
o H }{HFWW’M
T
_-H}D_III|IIII|IIII|IIII|IIII|IIII
=30 =20 =10 0 10 20 a0

diff_bpmdeY

600

400

200

=200

- 400

-600

- 800

= 1000

=1200

Wﬁmwww "%

%2 I ndf 29/ 38
p0 ~0.8051+ 2.2702

-0.1363 £ 0.4354

-

—

=30 =20 =10

diff

_bpmdeY

0 10 20 30

180
i 32/ ndi 39.86 / 38
i po 0.3131+ 0.7643
100 -
- pl —0.002446 + 0.145084
I ‘
Sl ka1
5ok -
0B s bvrrr bvv v bv v v v b g
~30 20 =10 (1] 10 20 an

£

-50

=100

-150

~200 -

iff _bpmdeY

—_

_}Wq H

¥< { ndf 4999 /38
pO -0.1415 + 0.5418

—0.06092 + 0.10321

|

-20) =10

a0

an.png

diff_bpm12X

X2/ ndl 4745 | 35
p0 —0.3854 + 0.4028
p1 0.003591 = 0.011066
N | 1 '

D:— HQW{W’N
4 |
100
_1ED|_|||||||||||||||||||||||||||I||||||||||||||||

200 =150 <100 50 O 50 100

diff_bpm12X

150 200

¥= { ndf 40.18/ 35
p0 —-1.229 + 2,195
p1 0.01444 + 0.06556
: 'WHM .
t
0 { {_Mm}
-500 —
=1000 — -
;IIlIIII|IIII|IIII|IIII|IIIIIIIIIlIIIIlIIIIlI
200 =150 <100 50 O 50 100 150 200

diff bpml2X
¥/ ndf - 4251735
pO 0.09396 + 0.76038
p1 0.01448 £+ 0.02081
‘ | H# bl
Kiaaid

=100

2
|IIII|IIII|IIII|II

=150

prlvr e b ||||||||||||||||||||||||T|||||
200 <160 <100 =50 1] B0 100 160 200

diff_bpm12X

T 11

42 1 o 32.5 /35
ol 01223 = 0.5359
ol 0.0006706 = 0.0154531 |
o “ Juhﬁ]#n“-‘—w“‘wwﬁw &H}}}m
100 -
300 - -
-||||||||||||||||||||||||||||I||||||||||||||||

200 <150 <100 -50 O 50 100 150 200



asym_sam1

asym_sam3

asym_samd

asym_sam’7/

2000

1500

1000

500

=500

=1000

=1500

=2000

—EEDDIII|IIII|IIII|IIII|IIII|I

=100 =50 0 50 100
diff_bpmXum

15000

10000

5000

=5000

10000

15000

=100 -50 0 50 100
difi _bpm1Xum

4000 —

2000 -

=2000 [~

4000

=100 -50 0 50 100
diff_bpm Xum

diff_bpm1X

400 -

2000 —

=2000

=000 - T .:';.

run7929 000 regressiom-asym sam

2000

1500

1000

500

- 500

=1000

=1500

=2000

JIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

-2500

I
30 =20  -10 0 10 20 a0
diff_bpmda¥ium

15000
10000

2000

=5000
10000

15000

—ED =20 =10 1] 10 20 30
diff_bpmda/um

2000
1500

1000

500

-500
=1000
=1500

=2000

-2500

|
“150  -100 50 0 50 100
diff _bpmdeX/um

diff_bpm4eX

15000
10000

2000

=5000

10000

15000

~
n
=
[

—
=
=
|

Z
=}
Z

100
diff_bpmdaX/um

4000 — 4000 —
2000 2000
o o
2000 — 2000 —
~4000 | ~4000 '.
_|| prrr v b bvvr e b bar i Iy _| AN T T T N T O B B N B A
~30 20 =10 1] 10 20 an - 150 =100 -850 (1] B0 100
difi_bomdaYium diff_bpm4eX/um
L 1 ]l'.|lf][i
I
4000 4000
000 - 2000 |-
o o
2000 2000
4000 - ~4000 |- e

Sam1357 vs diff ‘b=

mmﬂﬂsca

diff _

2000

1500

1000

500

=500

= 1000

= 1500

= 2000

=2500 pov v bvv o b b
=20 =10 (1] 10 20 an

diff_bomdeY/um

2

15000

10000

5000

=5000

10000

15000

TN T BN I BN I B A A B BB B I
=20 =10 0 10 20 30
diff_bpmdea¥ium

2

4000

2000 -

= 2000 —

4000 _f-f':

tr v v br v bvr o br v b
~30 20 =10 (1] 10 20 an
difi_bpmda¥ium

4000 -

2000 —

=2000

=4000 [

=20

 postpan:pne

2000

1500

1000

500

=1

-500

=1000

=1500

=2000

—EEUUT||||||||||||||||||||||||||||||||||||||||||
~200 -150 -100 -50 O 50 100 150 200
diff_bpm12X/um

15000

10000

2000

=5000

10000

15000

bl b b by b b a1
200 <150 <100 50 O 50 100 150 200
diff_bpm12Xium

4000 —

2000 —

=2000 —

-4000 —

v e bvve b b v bevwn bvv e
200 <150 <100 <50 1] B0 100 160 200
difi_bom12X/um

4000 —

2000 —

=2000 =

~4000 |-

v v b by v v B Be e 1
-200 150 -100 -50 O 50 100 150 200
diff_bpm12X/um




reg_asym_saml

reg_asym_samJ

reg_asym_samd

reg_asym_sam?/

run7929 000

=

300
200

100
1

=100
=200
-300

- 400

3000
2000

1000

=1000
=2000
=3000
-4000
=5000

-6000

800

600

200

=200
~400
- 600

-800

1000

500

=500
=1000
=1500
=2000

-2500

regressmn'" ““l“e

=100 =50 0 50 100
diff_bpmXum

=100 -50 0 50 100
difi _bpm1Xum

=100 -50 0 50 100
diff_bpm1Xum

—1{?0 —5[:' b‘ 1] 1[?D

- 300

200

100

=100

=200

=300

=400

sk

20 10 0 10 20 a0
diff_bpmda¥ium

3000
2000

1000

=1000

=2000

=3000

~4000

5000

~6000 =30 =20 =10 1] 10 20 30

diff_bpmda/um
di
B‘DD —
B00

» 400

200

=200

- 400

=600

=
_IIIIIIIIIIIIIIII|III|III|III|III|

~BO0 | b b b L b

30 -20 10 0 10 20 a0
diff_bpmda¥ium

- _ -

1000 [~ 1000
5’”‘“3— 500 E—
oF of
_5nnf— ~500 —
1000 — ~1000 —
~1500 — ~1500 —
~2000 — ~2000 —

300

200

100

=100

=200

-300

5

|
—
N1
==

3000

2000

1000

=1000

=2000

-3000

~4000

~5000

|
~100 50 0 50 100
diff _bpmdeX/um

~6000 g5

di

600
200

=200

~400

:

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

:

=100 -50 0 50 100
diff_bpmdaX/um

I
—
n
=

=

sam1357 vs dif

|
100 50 0 50 100
diff _bpmdeX/um

bpm-sc‘”“a

=100

=200

-300

- 400

2

3000

2000

1000

= 1000

= 2000

=3000

=4000

= 5000

20 10 0 10 20 a0
diff_bomdeY/um

~B000

3

di

G600
200
=200

~400

- 600

==
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

-800

=20 =10 0 10 20 30
diff_bpmday/um

_bpmdeY

-30

diff_bpmdeY

1000

500

=500

= 1000

=1500

= 2000

20 10 0 10 20 a0
diff_bpmdaY/um

EEDD

 post]

-m

an.pne’

- 300

200

100

=100

-200

-300

400
_IlllII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|I
~200 -150 -100 -50 O 50 100 150 200

diff_bpm12X/um

diff_bpm12X

3000

2000

1000

1]

=1000

=2000

=3000

-4000

~5000

Ol by by Bvas bvs bvaa beava baa i 1
~6000 200 <150 <100 50 O 50 100 150 200
diff_bpm12Xium

diff_ bpml2X

600

=

400

200

-200

-400

- 600

=
IIII|IIIIIIIIIIIIIII|III|III|III|

=BOO T b b b b b L

~200 -150 -100 -50 O 50 100 150 200
diff_bpm12X/um

diff_bpm12X

1000

200

~500

=1000

=1500

=2000

~2E00 [ |IIII|IIII|IIII |IIII|IIII|IIII |IIII|IIII|I
-200 -150 -100 -50 © 50 100 150 200
diff_bpm12X/um



